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(2) SET UP BUT DO NOT EVALUATE: Use a double integral in polar coordinates to find
the volume of the solid bounded above by the siirace z=1 - x2 -y 2 , below by

the xy plane, and laterally by the cylinder x2 - y2 -x = 0. M
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(b) Convert ( 2, 2, ‘/5 ) from rectangular coordinates to f‘": xL_‘_\/L C= \‘E
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(5) SET UP BUT DO NOT EVALUATE: ||| f(x.y.1av where E is the solid bounded by the

E

paraboloid z = 4x2 + y2 and the parabolic cylinder z = 4 - 3y2.
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(6) SET UP BUT DO NOT EVALUATE: integrals as specified to find the volume enclosed

by the cone z2 = x2 + y2 and the plane z = 4.
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a) Triple integral - cylindrical coordinates.
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b) Triple integral - spherical coordinates.
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d) Triple integral- rectangular coordinates; _order dx dz dy
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b) Convert the triple integral to Rectangular Coordinates: DO NOT EVALUATE.
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c) Convert the triple integral to Spherical Coordinates: DO NOT EVALUATE. Sce Ske‘bl\
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(8) Evaluate -” z dS where S is the portion of the paraboloid z=x? + y? that lies under the plane
S

z=4. Ans: 6—72( 391Jﬁ+1)
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(10) J yzCos x ds where C is given by x=t, y=2cost, z=2sint, 0 <t < 1. =
C
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